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Is this good enough?
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What Happened Here?
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Two out of three consecutive points near a 
control limit (outer one-third)



















UCL 87.7

CL 75.9

LCL 64.1

0.00

10.00

20.00

30.00

40.00

50.00

60.00

70.00

80.00

90.00

100.00

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Do
or

 to
 D

ev
ic

e 
Ti

m
e 

Le
ss

 th
an

 9
0 

m
in

Week 

X Door to Device Time Less than 90 min



UCL 84.9

CL 77.2

LCL 69.5

0.00

10.00

20.00

30.00

40.00

50.00

60.00

70.00

80.00

90.00

100.00

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

To
p 

Bo
x 

Sc
or

es

Week 

X Top Box Scores



UCL
81.6

89.0

CL
72.3

83.1

LCL
63.0

77.2

0.00

10.00

20.00

30.00

40.00

50.00

60.00

70.00

80.00

90.00

100.00

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

To
p 

Bo
x 

Sc
or

es

Week 

Top Box Scores







56+789+:##'";/<+
=/2)+>()/2



56+789+:##'";/<+
=/2)+>()/2

Small Fast Test of Change



56+789+:##'";/<+
=/2)+>()/2

Predict

Small Fast Test of Change



56+789+:##'";/<+
=/2)+>()/2

Predict

Try It
Gather Data

Small Fast Test of Change



56+789+:##'";/<+
=/2)+>()/2

Predict

Try It
Gather Data

Compare
Results with 
Prediction

Small Fast Test of Change



56+789+:##'";/<+
=/2)+>()/2

Predict

Try It
Gather Data

Compare
Results with 
Prediction

Adopt
Adapt or
Abandon

Small Fast Test of Change



56+789+:##'";/<+
=/2)+>()/2

?/'*+>3&%%+
>@&%/+=/2)

A"%%".B$#+
=/2)2

C(</ B>@&%/+
=/2)2

73#%/3/0)&)("0
Building a Degree of Belief


